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Statements of Logic Worksheet

1. Write the converse, the inverse, and the contrapositive of each statement and determine the
truth of each new statement.

a. [f each side of a triangle has a length of 10, then the triangle’s perimeter is 30.
conve £ the triangles Perimeter 1 30, then each Side of +he
e %Y,Qngm hos co Img% of (O, LNOTTRUE}

Invers R each side ofF triangle 15 hot 10 ) the B2 +he

: trianglés
perimeter 1S Nt B30, (s NOTTREG E )

Contr |F the ‘i’ﬂ(lng\e”s p{ﬂmo}e!’ (s hot' 20, then each side of Phe triang L
s not (0. (Teur)
b. If an angle is acute, then it has a measure greater than 0 and less than 90.
Conv 1F an Cmcjbz hos o Measue cj‘rﬁf«}t’f thon Z2ero and |esg
bon 90 Hun  Fhe angle s aceube (T7) |
o e L Ny e N ot
invers | B 4he angle ©S Not cvonde  Bren the angle 1S N
Greakt thon O eund lSs Fhan 0% (hue)

conbm. 1§ Fhe angle (s not greader than zeor and less faq 90

then e s (3 v C‘C&P{,Lr)

2. If a conditional statement and its converse are both true, the statement is said to be
biconditional. Which of these statements are biconditional?

(@ If two angles are congruent, then they have the same measure.

b. If two angles are straight angles, then they are congruent.



3. Rewrite the following statement in conditional form and write its converse, inverse, and
contrapositive: “A square is a quadrilateral with four congruent sides.” _}
I o fiqure 15 a.square then it is a gliadr loderal with 4 congruent Sides
wnverse - \F o Rgure 1S o qruadn\odc@ with H 2 S\C\QS',Jrh@ﬂ it is s?uor@ U\&ha\_m
nverse — | o figure 1 not @ sguare then b 18 not a (X,L\eri \atern) W/ H= gides

absut o
rhembus
Not brue

entopesti 1 o, Bgve is ot o Quodriloderod w 4 =gides then it s
A Py, B ) .
not o -;L}UUM ( WUQ)

4. What conclusion can be dra%n from the following?
6 @ ® ©

~c=>~f g=2b p=>f c=>~b

wWrite Contropositives

f>e Dol e .9 g>b & p> ¢
~b > ~q ~fz~p /[ b~ Exe
M Snp N CDep [ Aol b

~fFep ~b>rQ

write conbra \1)5\#(‘\/@_

b2
poe | oamp [ ey
CORE Eﬁ
b=z ~Qg

ey Sh S
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